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<1> TFEE = 18+QDL=18
(10) |c4-4-184 #: Eﬁﬁ%iﬁ%ﬂ% SR (o2 BAA) 3 o 1.8 160. 81 289. 46
1> TF2E = 18%QDL=18
(11) |c4-8-246 %%ﬁfg&%ﬁ&ﬁ%%@f% HAB | 004 0.06] 502135 301. 28
1> T.728& = 6+QDL=6
5 030410003001 |S£B44 JKLGYJT-120/20 km 2.203 19977. 84|  44011. 18
FHRRW BEWGELL (BEmm2 L)
(1) |c4-10-61 # 150  —fRILEhEEHH A T*1. 6, YL km/2eg 2.203 19977.84]  44011. 18
*1.6
{1> L& = QDL=2. 203
6 1030410003004 |[S£E%2i& JKLGYJ-70/10 km 0.1 11941. 40 1194. 14
(1) |c4-10-60 %ﬁi?‘@‘i HERIE R B2 CL F) ||/ e 0.1 11941.40] 119414
1> IFEE = QDL=0. 1




TREEHHR

TRLH: ZiRB FIW H4W
RS IR B Yl =B Bifir TRfE | Sedd &t
7 (030402010001 |l A Bt o it 75 A | 3 3602. 08|  10806. 24
(1) [c4-2-30 WEReE Sk KVELT) 10 4| 3 3602, 08|  10806. 24
<1> T#& = QDL=3
8 1030410002001 |FHEBAALT XP-T0kN H 2 314. 61 8494. 47
(1) |C4-3-69 10kVEA F s 728t BT 108 2.7 3146. 11 8494. 50
<1> ILfEE = QDL=27
9 (030410002004 |MELFHERLLT XP-TOKN i) 12 649. 95 7799. 40
(1) |C4-3-69 10kVEA Tt BRLEETH 10 12 6499. 51 7799. 41
(1> TH#E = QL=12
10 [030410001012 |REMLHGETFHLEIR Ui 6 772,23 4633. 38
(1) [f#A1-1-10 ATHEERL —. ZFt REE4A| 100m3 0. 096 5254. 84 504. 46
<1> T2 = 0.8x%0. 8%2. 5%QDL=9. 6
(2) |[fEA1-1-127 EEL ATIFE 100m3 0. 096 3556. 04 341. 38
(1> TFE& = 0.8%0.8%2. 5%QDL=9. 6
(3) |c4-10-97 # %‘ﬁﬁﬁﬁﬁﬁﬁ Rl AT g, 6|  145.54  873.24
<1> TF& = QDL=6
FMIE, % Y@L (B2 ELA)
(4) |c4-10-76 #: 172 —i R E R A x1.6, Ml IR 6 485. 72 2914. 32
1> IfE®E = QDL=6
11 |030409001003 |FFR¥t#&. BRIEHHM # 3 5278.93| 15836.79
(1) |c4-9-3 e S T AWER Wl 24 128.08|  3073.92
<1> TFEHE = 8*+QDL=24
(2) |C4-9-19 S RHREOR S AN R 10m 18 685.04]  12330.72
<1> L& = 60%QDL=180
(3) |C4-9-86 P B e BB 104t 0.3 796. 45 238. 94
<1> L& = 1*QDL=3
(4) |c4-11-84 Eﬁ”%ﬁﬁﬁﬁﬁiz REEEHAR 28 | oon 0.06  3220.04 193. 20
<1> Ti2f = 2+QDL=6
12 030414011001 |EEHh3EE RE 3 1743. 70 5231. 10
(1) |C4-14-49 et L B E30 3 1743. 70 5231.10
<1> TFE& = QDL=3
13 |030414009001 |@FEH 45 i 4 1485. 97 5943. 88
(1) |c4-14-43 %ﬁ‘mﬁﬁgﬁ‘ AR EER VL g 4 1485.97|  5943.88




THRERHIFE

TAELFR: IR FA4W 4 mW
g T H 4mhg T H 4% =<Fivs THEHE LR =
1> TFEE = QhL=4
14 1030410001004 |12 FEFFHFRE H 6 110. 30 661. 80
il BFFHST JREEEAF (mBAR) 13 A T*0.
(1) |c4-10-6 # 3. WHE0, B0, 3 i} 6 110. 30 661. 80
1> THEE = QDL=6
15 |030410002003 |H&EIFHE 4 4 23.28 93.12
ey 10kVEL %S &, ARSHE XUR A
(1) [C4-10-32 # TH0. 3, B0, B0, 3 4 4 23.28 93,12
1> TF#EE = QDL=4
16 |030410001007 |&EHr 2847k R 12 24.55 294. 60
AL RrERmfE . ¥ Mmhek (B mm2 LLA)
(1) (C4-10-76 # |0 S AP0, LLEAC. 3 i 12 24. 55 294. 60
1> L& = QDL=12
17 |030410003003 |S£BH5kE LGI-120 km 1. 545 695. 61 1074. 72
(1) |ca-10-53 # @%‘%?%%%%%@ﬁm%”) 150] o/ eaee 1, 545 695.61]  1074.72
{1> If&& = QDL=1.545
18 |030410003005 |S£k4FF LGI-50 km 0.33 468. 54 154. 62
(1) |ca-10-52 # Qﬁﬁzﬁﬁﬁ};ﬁgﬁ%ﬂﬁ@g‘wﬂ 95 | km/psh 0.33 468. 54 154. 62
<1> TFE& = QDL=0. 33
19 |030410004002 |#F EEZMLIFEBITE ik 1 710. 01 710. 01
(1) [ca-10-72 %03 |fFERRABERE WHIFX B0 | 4 1 168. 11 168. 11
1> ITHEE = QhL=1
(2) [C4-10-69 *0.3 [FF_LAFHCE R &IREE BEESL  Mi+0. 3 H 2 70. 44 140. 88
1> TFEE = QDL*2=2
(3) |c4-10-70 #0. 3 ?2 LRRAEEASR FMRITR 0. | 4y 2 124. 47 248. 94
1> TFE = QDL*2=2
(4) [c4-10-33 0.3 [LOKVENFHUEIR BB HUAT Bt 4 5 10. 09 50. 45
{1> TFEE = 5%QDL=5
_a_ BBHRT| R, BhER MR & ERIRGE & —
(5) |C4-3-4 *0. 3 ﬁﬁm(mmzum) 150 ﬁ‘m*o 3 %/4.*@ 1 101. 63 101. 63
1> TF&E = 1*QDL=1







